x107° 0.2 x107°

= 0.20% —~
2 AN - :
= .F @, . F :
7 0.15F g 0.5 - {1 EH b
S o : ¥ : © E :
) L i 3 M B N Y o L )
© 0.1 i * K v oL :
0.05F s A 0.05F | IR
OF e OF {7 S
~0.05fF - kbt oo pdfe oo -0.05F + j[ -----------
-0.1E% T AR —0.1k--H} L P
=015tk b T —0.15F [ {fir |1 LT R e
.9_0'3-:__“: ________ |__|_||___||_|__"|__|__|_|_|_|:| o 2; I:;:..” uL L1 |||! 1 ||||||! EEERTIT
gt i K - {1 LAY SO s O [ A
o5 b HETH - F 3ok 34
r OSF{FH - Fhdeif - af oo
C-71 - = .2 3 C:71 .2 3
10 1 TPlp())T (PCA t%obeamlin:elf) 10 1 TPlpg)T (PCA t%obeamlin:elf)
N BT e e o Biaet L newgenm
g’%&?]%J:.@%W§%ﬁ¥T%ﬁm%h
mplatscutchisquareNews 2 SE %FZE ssstnshilsn

rr

o

o
T T

+

2 3
TPl[g)T (PCA f})obeamlinéf)

<opJp,> (%)

Ratio




	Contents
	Page 1


